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Answer all the questions in this paper.
1. You are provided with solid Q and R. You are also provided with iodine solution, Sodium hydroxide solution and Copper (II) sulphate solution.
i. Dissolve all solid Q in 5cm3 of distilled water in a test tube to form a suspension. Label it as Q.
ii. Dissolve all solid R in 5cm3 of distilled water in a test tube to form a suspension. Label it as R.
a) Using the procedure outlined in the table below, carry out food tests on the substances Q and R, write the food, observation and conclusion.									(6 marks)
	Food
	Procedure
	Observation
	Conclusion

	
	To 2ml of Q in a test tube, add 3 drops of iodine solution
	


	

	
	To 2ml of Q in a test tube, add equal amounts of Sodium hydroxide solution then followed by a few drops of Copper (II) sulphate solution and shake
	





	

	
	To 2ml of R in a test tube, add 3 drops of Iodine solution
	


	

	
	To 2ml of R in a test tube, add equal amounts of Sodium hydroxide solution then followed by a few drops of Copper (II) sulphate solution and shake
	





	


 b) (i) which of the two substances should be included in a diet to protect a child from suffering Kwashiorkor. 														(1 mark)
....................................................................................................................................................................................
(ii) Give a reason for your answer in b (i) above. 						    	(1 mark)
....................................................................................................................................................................................
c) (i) Name two enzymes in the human body which digest the food substances found in Q. 	(2 marks) 
....................................................................................................................................................................................
....................................................................................................................................................................................


(ii) State the organ from which each of the enzymes you have stated in c(i) above acts. 		(2 marks)
Enzyme:..............................................................		Organ: …………………...........................................
Enzyme: .............................................................		Organ: .......................................................................

2. You are provided with specimen Y.
(a) (i) Using external features only, identify the part of the plant. 					(1 mark)
....................................................................................................................................................................................
(ii) Give two reasons for your answer in a(i) above.							(2 marks)
....................................................................................................................................................................................
....................................................................................................................................................................................
(b) State the class to which the specimen belongs and give one reason for your answer. 		(2 marks)
Class: .........................................................................................................................................................................
Reason: ………………..............................................................................................................................................
(c) (i) Explain two observable features in the specimen that adapt it to nutrition.		   	(2 marks)
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
(ii) State two features of the specimen that is only observable under a microscope that adapts it to gaseous exchange.												(2 marks)
....................................................................................................................................................................................
....................................................................................................................................................................................





3. (a) The photograph below shows an experiment that was set to investigate a certain process in been seedling.
[image: ]
(i) Identify the response being investigated.								(1 mark)
....................................................................................................................................................................................
(ii) Account for the observed results for the seedling A after 24 hours.				(4 marks)
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
(iii) Explain why the root in the seedling B continued to grow straight downward.			(2 marks)
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................
(iv) Explain the significance of the response stated in a(i) above to plant. 				(2 marks)
....................................................................................................................................................................................
....................................................................................................................................................................................
....................................................................................................................................................................................



(b) You are provided with the photograph of mammalian bones P and Q obtained from the same animal.	









(i) Name bone
		P: ………………........................................................				(1 mark)
		Q: ……………….......................................................				(1 mark)
(ii) State the part of the body from which the bones were obtained.
P: ................................................................................				(1 mark)
		Q: ...............................................................................				(1 mark)
(iii) Which two of the labeled parts forms a ball and socket joint.					(1 mark)
............................................................................................................................................................
(iv) With reasons identify the type of joint formed by bone P at:
	Distal end: ............................................................................					(1 mark)
	Reason: 	...................................................................................................................	(1 mark)
	Anterior end: ........................................................................					(1 mark)
	Reason:	...................................................................................................................	(1 mark)
(v) Name the other bone that articulates with bones P and Q and controls or limits movement in man.
..........................................................................................................................................		(1 mark)
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